(x;, —x)x+ (¥, — ¥,y +(z, —2,)z=(w, —w,)/2
('xl - XS))C + (yl - yS)y + (Z1 _Z3)Z = (Wl — WS)/2

X =az+ b,

y=a,z+b,

1
a, = E[(z2 —zD(y3—yD — (23— zD(y2 — yD]

1
bl = _g[(wz - Wl)(y3 - yl) - (W3 - Wl)(yz — yl)]

d = (y2 — yl)(xg —-xl) _(y3 _yl)('x2 - xl)

a, = _é[(zz — Zl)(-x3 — xl) - (Z3 - Zl)(—xz — Xl)]

1

b. =
> 2d

[(W2 - Wl)(-xg, - -xl) - (W3 - Wl)(xz - Xl)]
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—b = \/b2 —4dac
<2 = 2a

a=a +a:+1
b=(@ab —x)+a,(b,—y)—2z)

c = (h —x1)2 + (b, —)’1)2 +z12 — 72



